
5mm T-Shaped Wrench 15mm/17mm Pedal Wrench

Screwdriver

TOOLS & PARTS INCLUDED

ORANGE BAG

HARDWARE INCLUDED

M8 x 20L Bolt
Quantity: 2

SW8 Lock Washer
Quantity: 2

PARTS BOX
Console Mast Cover

Pedals
Power Supply

Water Bottle and Cage
Color Coded Hardware Bags

Assembly Guide
Owners Manual
Warranty Card

500 South CP Avenue   •   P.O. Box 280  •  Lake Mills. WI 53551

toll free 800.335.4348  •  phone 920.648.4090  •  fax 920.648.3373

www.visionfitness.com

©2006 Vision Fitness. All Rights Reserved. 8.06
AG18.42PRD
REV5

starts

vision
with a

it all

PINK BAG

Assembly
Guide

E1400 ANDE1500
UPRIGHT FITNESS BIKES

M8 x 15L Bolt
Quantity: 6

SW8 Lock Washer
Quantity: 8

14mm Open Ended Wrench

M8 x 20L Bolt
Quantity: 2

BLUE BAG

M8 x 20L Bolt
Quantity: 2

SW8 Lock Washer
Quantity: 4

M8 x 70L Bolt
Quantity: 2

M8 x 18 x 1.5T Arc Washer
Quantity: 2

4mm L-Shaped Wrench

M8 x 10L Set Screw
Quantity: 1

5mm L-Shaped Wrench




